KANSAS CORPORATION COMMISSION OIL & GAS CONSERVATION DIVISION

Form ACO-1 September 1999 Form West Be Typed

WELL COMPLETION FORM WELL HISTORY - DESCRIPTION OF WELL & LEASE

Operator: License # 31093	API No. 15 - 135 24261 00 00
Name: Becker Oil Corporation	County: Ness
Address: 122 E. Grand, Suite 212	S2SESE_Sec. 36 Twp. 20 S. R. 22 East V West
City/State/Zip: Ponca City, OK 74601	330 feet from (S) / N (circle one) Line of Section
	660 feet from (E) / W (circle one) Line of Section
Purchaser:Operator Contact Person: Clyde M. Becker, Jr.	Footages Calculated from Nearest Outside Section Corner:
Phone: (303) 816-2013	(circle one) NE (SE) NW SW
Contractor: Name: Cheyenne Drilling, Inc.	Lease Name: Shank Well #: 1
License: 5382	Field Name: Wildcat
Wellsite Geologist: James Musgrove	Producing Formation: Chase Group
Designate Type of Completion:	Elevation: Ground 2260 2160 Kelly Bushing: 2167
New Well Re-Entry Workover	Total Depth: 2405 Plug Back Total Depth:
Oil SWD SIOWTemp. Abd.	Amount of Surface Pipe Set and Cemented atFeet
GasENHRSIGW RECEIVED	Multiple Stage Cementing Collar Used?
Day Other (Oses MOM Evel Cathodia eta)	H vac show don'th set
If Workover/Re-entry: Old Well Info as follows: JUN 1 8 2004	If Alternate II completion, cement circulated from
Operator: KCC WICH	TiAt depth tosx cmt.
Well Name:	
Original Comp. Date: Original Total Depth:	Drilling Fluid Management Plan (Data must be collected from the Reserve Pit)
Deepening Re-perf Conv. to Enhr./SWD	Chloride contentppm Fluid volumebbls
Plug Back Plug Back Total Depth	Dewatering method used Evaporation
Commingled Docket No	
Dual Completion Docket No	Location of fluid disposal if hauled offsite:
Other (SWD or Enhr.?) Docket No	Operator Name:
2/21/04 2/25/04	Lease Name: License No.:
Spud Date or Date Reached TD Completion Date or	Quarter SecTwpS. R East West
Recompletion Date Recompletion Date	County: Docket No.:
INSTRUCTIONS: An original and two copies of this form shall be filed with the Kansas 67202, within 120 days of the spud date, recompletion, workover information of side two of this form will be held confidential for a period of 12 107 for confidentiality in excess of 12 months). One copy of all wireline logs of TICKETS MUST BE ATTACHED. Submit CP-4 form with all plugged wells.	r or conversion of a well. Rule 82-3-130, 82-3-106 and 82-3-107 apply. 2 months if requested in writing and submitted with the form (see rule 82-3- and geologist well report shall be attached with this form. ALL CEMENTING
All requirements of the statutes, rules and regulations promulgated to regulat herein are complete and correct to the best of my knowledge.	te the oil and gas industry have been fully complied with and the statements
Signature: Clyde M Bester of	KCC Office Use ONLY
Title: Vice President Date: 5/11/04	Letter of Confidentiality Received
	If Denied, Yes Date:
Subscribed and sworn to before me this 14 day of 4 ms	Wireline Log Received
20 <u>04</u> .	Geologist Report Received
Notary Public: Camula & Mullsu Date Commission Expires: 1/2 5/06	UIC Distribution
Date Commission Expires: 1/2 5/06	

Side Two

Operator Name: Becker Oil Corporation				Lease	Lease Name: Shank			Well #:		
Sec. 36 Twp. 20			t ✓ West	County	y: Ness	and and the commence of the co				
INSTRUCTIONS: Strested, time tool oper temperature, fluid rec Electric Wireline Logs	n and closed, flowing covery, and flow rate:	g and shut s if gas to	-in pressures, v surface test, a	whether sl long with f	hut-in pre	ssure reached a	static level, hydr	ostatic pressure	es, bottom	hole
Drill Stem Tests Take		VΥ	es 🗌 No		V L	og Formatio	on (Top), Depth	and Datum	s	ample
(Attach Additional Sheets) Samples Sent to Geological Survey Yes No				Nam	e yenne SS	Тор 468		atum -1699)		
Cores Taken			es No		1		670	•	-1497)	
Electric Log Run		✓ Y				Blaine Anhydrite Cedar Hill SS				-1412)
(Submit Copy)						e Cedar Hills		959	•	1208)
List All E. Logs Run:							ovdrite	1312	•	-855)
Compensated	Noutron/Don	city DE	Log Bond	tloa	Stone Corral Anhydrite Wellington Group			1723	(+	-444)
Compensated	r Neutron/Den	OILY I L	. Log Done	Log	ţ	Chase Group		2205	(-38)	
					Krid	•		2230	•	63)
generalise and a state of the s	n distribution (1984), a servicio differe de 2004, della sedamenta el differen e 1980 e 1940, della della della			RECORD	V Ne	w Used	garigat, manner e nagamente ner leben e l'Alain de l'anner de l'anner de l'anner de l'anner de l'anner de l'an L'anner de l'anner de	ing palating and an experience of the state	contractive and the vertical space of the vertical space.	a de a de activación de ac
Purpose of String	Size Hole		rt all strings set-c ze Casing	We	ight	ermediate, product	Type of	# Sacks		nd Percent
	Drilled	 	t (In O.D.)	Lbs. / Ft.		Depth	Coment	Used	Ad	ditives
Surface	12 1/4	8 5/8		24		230	Common	160	4144.5	
Production	7 7/8	4 1/2		10.5	and the second second second	2405	Lite	500	1/4# flo	
							ASC	100	1/4# flo-se	al,.005 FL 160
		upana kaana a-a.c.a	ADDITIONAL	CEMENT	NG / SQL	JEEZE RECORD		instruction of the section of the se	E-Viza addition of the factor of the	the state of the s
Purpose: Perforate Protect Casing Plug Back TD	Depth Top Bottom	Тур	e of Cement	#Sacks	s Used		Type and	Percent Additives		
Plug Off Zone										
		AL DEAD		. 0.15	W	A.(1 P				***********
Shots Per Foot			RD - Bridge Plug Each Interval Per		*	Acid, Fracture, Shot, Cement Squeeze Record (Amount and Kind of Material Used) Depth				
	Pending									
	·	*		1						

			r kyrol ar blad ar hannel die omgele eine anvenere die noerde see in Armee de seesen							
TUBING RECORD	Size	Set A		Packer /	At	Liner Run	Yes N)		kamentalangka termenanan kameng timondan sebangan
Date of First, Resumer	d Production, SWD or E	Enhr.	Producing Met	hod	Flowin	g Pumpi	ng Gast	ift 🗆 Oth	er (Explain)	
Estimated Production	Oil	Bbls.	Gas	Mcf	Wat			Gas-Oil Ratio		Gravity
Per 24 Hours Disposition of Gas	METHOD OF C	COMPLETION	j ON			Production Inter	wai			
			prostany	FT =	<u>.</u> — .					
Vented Sold	Used on Lease ubmit ACO-18.)		Open Hole Other (Special	Peri	ı. [] ^l	Dually Comp.	Commingled			

BECKER OIL CORPORATION



CLYDE M. BECKER PRESIDENT

122 E. Grand, Suite 212 Ponca City, Oklahoma 74601 (580) 765-8788

KCC JUN 1 A 2005 CONFIDENTIAL CLYDE M. BECKER, JR.
VICE PRESIDENT, EXPLORATION
11299 FOXTON RD.
MAILING ADDRESS:
P.O. BOX 1550
CONIFER, COLORADO 80433
(303) 816-2013

Becker Oil Corporation #1 Shank Well Completion Form

Name	Тор	Datum
Winfield	2284	(-117)
Towanda	2357	(-190)
TD (Drlr.)	2405	(-238)
TD (Log)	2405	(-238)

RECEIVED
JUN 182004
KCC WICHITA

ALLIED CEMENTING CO., INC.

P.O. BOX 31 RUSSELL, KS 67665 PH (785) 483-3887 FAX (785) 483-5566 FEDERAL TAX ID# 48-0727860

INVOICE

Invoice Number: 092439

Invoice Date: 02/24/04

Becker Oil Corp. Sold 122 E. Grand To:

-Suite #212 Ponca City, OK 74601

CONFIDENTIAL

Cust I.D....: Beck

P.O. Number: Shank #1

P.O. Date ...: 02/24/04

Due Date: 03/25/04 Terms...: Net 30

Itom I D /Desc: Otv. Used	Unit Přice	Net	TX
Surface Mileage pmp trk 26.00	MILE 8.4000 JOB 520.0000 MILE 3.5000	1144.00 30.00 150.00 193.20 218.40 520.00 91.00 45.00 110.00	T E E E E
All Prices Are Net, Payable 30 Days Followin Date of Invoice. 1 1/2% Charged Thereafter. If Account CURRENT take Discount of \$350.76 ONLY if paid within 30 days from Invoice Date	Payments:	2501.60 93.18 0.00 2594.78	:)

RECEIVED JUN 182004 KCC WICHITA ALLIED CEMENTING CO., INC.

P.O. BOX 31 RUSSELL, KS 67665 PH (785) 483-3887 FAX (785) 483-5566 FEDERAL TAX ID# 48-0727860

Invoice Number: 092494

Invoice Date: 02/28/04

Sold Becker Oil Corp. To:

122 E. Grand Suite #212 Ponca City, OK 74601

Cust I.D....: Beck

P.O. Number..: Shank #1 P.O. Date...: 02/28/04

Due Date.: 03/29/04 Terms....: Net 30

Item I.D./Desc.	Qty. Used	Unit	Price	12 WisNet - A	TX
Common	100.00	SKS	9.0000	900.00	T
Gel	2.00	SKS	10.0000	20.00	\mathbf{T}
Lite	500.00	SKS	6.7000	3350.00	T
FloSeal	150.00	LBS :	1.4000	210.00	T
FL-160	50.00	GAL	8.0000	400.00	${f T}$
AS Flush	500.00	GAL	1.0000	500.00	$\bar{ extbf{T}}$
Salt	602.00	SKS	0.1700	102.34	T
Handling	656-00	SKS	1.1500	754.40	Ē
Mileage (26)	26.00	MILE	32.8000	852.80	Ē
656 sks @\$.05 p	er sk per mi				
Production	1.00	JOB	1130.0000	1130.00	E
Mileage pmp trk	1)	MILE	3.5000	91.00	E
Rubber Plug	1.00	EACH	48.0000	48.00	T
Guide Shoe T. Centralizers	1. 00	EACH	125.0000	125.00	T
Centralizers	6.00	EACH	55.0000	330.00	T
Stop Ring	1.00	EACH	45.0000	45.00	\mathbf{T}
Scop King	1.00	EACH	20.0000	20.00	T
			, , , , , , , , , , , , , , , , , , ,		
All Prices Are Ne	t, Payable 30 Days Follo	wina Subt	otal:	8878.54	
Date of Invoice.	l 1/2% Charged Thereafte		••••	381.17	
If Account CURREN	I take Discount of \$ 887		ents:	0.00	.
ONLY if paid with	in 30 days from Invoice	Date Tota	1 :	9259.71	. 1
•					l
				- 88785	
		attili pir ettakona		,	
			Service of	8371.86	
		All the sign as a second	e garage	<i>b</i> · ·	1